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1. [bookmark: _Toc122434485][bookmark: _Toc75963323]Overview
This document lists all the changes needed to correct issues in the ATS iWD-TTCN3-B2020-09_D21wk24 related to the title of this CR.
[bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc75963324]Contact:	Kalahasti, Narendra
	Narendra.Kalahasti@anritsu.com
1. Corrections required
1. [bookmark: _Toc30685521]Change 1
	Function name
	f_TC_7_1_1_2_1_NR_TestBody1() and f_TC_7_1_1_2_1_NR_TestBody2()

	Reason for change
	LCID value ‘000101’ is fixed for RLC SDUs always on this case. For internet PDN TTCN is assigning DRB id 2 and LCID 5. For ims PDN, TTCN is assigning DRB id 1 and LCID 4. But, LCID 5(tsc_LCID_SCG_Bearer) is only used in construction of MAC PDU in case of DRBid=1 or DRBid=2. Hence, it will fail the TC if this TC will be executed with IMS as default dnn.

	Summary of change
	Instead constant LCID, added conditional LCID value as per DRB id.


	TTCN module
	MAC_TC_Common_NR.ttcn

	MCC160 Comment
	



Before Change
	  function f_TC_7_1_1_2_1_NR_TestBody1(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  {
    var RNTI_Value_Type v_C_RNTI;
    var integer j;
    var integer v_Nack_Count;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var NR_MAC_SDU_Type v_EncodedRlcPdu2;
    var NR_MAC_SDU_Type v_EncodedRlcPdu3;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var SubFrameTiming_Type v_TimingDL;               //Anritsu TTCN WA for 7.1.1.2.1.ENDC_FR2
    
    timer t_Watchdog := 0.6;
    //configure SS for no Auto Time alignement
    //@sic R5s200009 sic@
    f_NR_ULGrantConfiguration_Common(nr_Cell1, cs_TimingInfo_Now, -, cs_NR_UplinkTimeAlignment_Stop);
    
    // Configure for indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    // @siclog "Steps 1 - 2" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListDL));
    // @siclog "Step 3" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 3");
    t_Watchdog.stop;
    // store cell info parameters for C-RNTI
    v_C_RNTI := f_NR_CellInfo_GetRNTI(nr_Cell1);
    
    // @siclog "Steps 4-5" siclog@
    // Configure SS with a different RNTI than allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, tsc_RNTI_Value_Diff);
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
    // @siclog "Step 6" siclog@
    alt {
      []  SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, (ack, nack)))
        {
          t_Watchdog.stop;
          f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6: UE is sending HARQ ACK/NACK when sent addressed to different CRNTI");
        }
      [] t_Watchdog.timeout
        {
          f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
        }
    }
    
    // Configure SS with a same RNTI allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, v_C_RNTI);
    for (j :=0; j < 16; j:= j+1) {
      v_Nack_Count := 0;
      // Configure SS to corrupt CRC in first transmission of DL MAC PDU
      //@sic R5s190360 sic@
      v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1, 400);  //Anritsu TTCN WA for 7.1.1.2.1.ENDC_FR2
      v_TimingDL.Subframe.Number := 2; //Anritsu TTCN WA for 7.1.1.2.1.NR5GC
      if (v_TimingDL.SFN.Number mod 2 == 1){ //Anritsu TTCN WA for 7.1.1.2.1.NR5GC
        v_TimingDL.SFN.Number := (v_TimingDL.SFN.Number + 1) mod 1024;
      }
      f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal, cs_TimingInfo_NR(v_TimingDL))); //Anritsu TTCN WA for 7.1.1.2.1.ENDC_FR2
      //@siclog "Step 7" siclog@
      v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(j+1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(j+1, crs_NR_PDCP_SDU_36B)));
      // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
      t_Watchdog.start;
      v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
      v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
      DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_TimingDL),  v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(j))); //@sic R5s190360 sic@ //Anritsu TTCN WA for 7.1.1.2.1.ENDC_FR2
      
      //@siclog "Step 8" siclog@
      SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, nack));
      f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 8");
        
      //@siclog "Step 9" siclog@
      // MAC PDU retransmision automatically performed by SS
      //@siclog "Step 10" siclog@
      alt {
        [] SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack))
          {
            f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 10");
            t_Watchdog.stop;
          }
        [v_Nack_Count<3] SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, nack))
          {
            v_Nack_Count := v_Nack_Count +1;
            repeat;
          }
        [] t_Watchdog.timeout
          {
            f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 10: UE did not send HARQ ACK");
          }
      }
    }

    // Configure for stop indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(disable));

    //@siclog "Step 11" siclog@
    // 254B PDCP SDU + 3B PDCP Header + 3B RLC Header =260B MAC SDU
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(17, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(17, crs_NR_PDCP_SDU_254B)));
    v_EncodedRlcPdu2 := f_NR_RLC_AMD_FullPDU_Encvalue(18, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(18, crs_NR_PDCP_SDU_254B1)));
    v_EncodedRlcPdu3 := f_NR_RLC_AMD_FullPDU_Encvalue(19, tsc_NR_P_Poll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(19, crs_NR_PDCP_SDU_254B2)));
    // 260 MAC SDU + 3B MAC Header =263B MAC Sub PDU
    // 3 MAC SUB PDU = 3*263 = 789B = 6312 bits
    // 6312 + 88 bit Padding =6400 (an allowed TB size as per 38.523-3 Annex B)
    //88bit padding = 1B padding header + 10B padding
    v_SDU_SubPDUListDL := {
      cs_NR_MAC_SDU_SubPDU_LI16(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1),
      cs_NR_MAC_SDU_SubPDU_LI16(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu2),
      cs_NR_MAC_SDU_SubPDU_LI16(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu3)
    };
    v_MAC_PDUListDL := {
      cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU(tsc_NR_MAC_Padding_10B))
    };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));

    //@siclog "Step 12" siclog@
    f_NR_RxRLCSTATUS_PDU_ACK_SN_Only(20, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 12");
    //@siclog "Step 13" siclog@
    // 122B PDCP SDU + 3B PDCP Header + 3B RLC Header =128B MAC SDU
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(20, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(20, crs_NR_PDCP_SDU_122B)));
    v_EncodedRlcPdu2 := f_NR_RLC_AMD_FullPDU_Encvalue(21, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(21, crs_NR_PDCP_SDU_122B1)));
    v_EncodedRlcPdu3 := f_NR_RLC_AMD_FullPDU_Encvalue(22, tsc_NR_P_Poll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(22, crs_NR_PDCP_SDU_122B2)));
    // 128 MAC SDU + 2B MAC Header =130B MAC Sub PDU
    // 3 MAC SUB PDU = 3*130 = 390B = 3120 bits
    // 3120 + 120 bit Padding =3240 (an allowed TB size as per 38.523-3 Annex B)
    //88bit padding = 1B padding header + 10B padding

    v_SDU_SubPDUListDL := {
      cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1),
      cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu2),
      cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu3)
    };
    v_MAC_PDUListDL := {
      cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU(tsc_NR_MAC_Padding_14B))
    };

    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
     
    //@siclog "Step 14" siclog@
    f_NR_RxRLCSTATUS_PDU_ACK_SN_Only(23, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 14");

    //@siclog "Step 15" siclog@
    // 121B PDCP SDU + 3B PDCP Header + 3B RLC Header =127B MAC SDU
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(23, tsc_NR_P_Poll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(23, crs_NR_PDCP_SDU_121B)));
    // 127 MAC SDU + 2B MAC Header =129B MAC Sub PDU =1032 bits (an allowed TB size as per 38.523-3 Annex B)
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
    //@siclog "Step 16" siclog@
    f_NR_RxRLCSTATUS_PDU_ACK_SN_Only(24, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 16");
    
    //@siclog "Step 17" siclog@
    // 117B PDCP SDU + 3B PDCP Header + 3B RLC Header =123B MAC SDU
    // 123B MAC SDU + 2B MAC Header =125B MAC Sub PDU
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(24, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(24, crs_NR_PDCP_SDU_117B)));
    // 254B PDCP SDU + 3B PDCP Header + 3B RLC Header =260B MAC SDU
    // 260B MAC SDU + 3B MAC Header =263B MAC Sub PDU
    v_EncodedRlcPdu2 := f_NR_RLC_AMD_FullPDU_Encvalue(25, tsc_NR_P_Poll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(25, crs_NR_PDCP_SDU_254B1)));
    // 263B + 125B =388B =3104 bits (an allowed TB size as per 38.523-3 Annex B)

    v_SDU_SubPDUListDL := {
      cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1),
      cs_NR_MAC_SDU_SubPDU_LI16(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu2)
    };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));

    //@siclog "Step 18" siclog@
    f_NR_RxRLCSTATUS_PDU_ACK_SN_Only(26, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 18");
  }



function f_TC_7_1_1_2_1_NR_TestBody2(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  {
     
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    
    timer t_Watchdog := 0.6;
    
    // Configure for indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    // @siclog "Steps 19a3 - 19a4" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(26, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(tsc_LCID_SCG_Bearer, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
    // @siclog "Step 19a5" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    t_Watchdog.stop;
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 23");
    // Configure for stop indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(disable));
  }



After Change
	function f_TC_7_1_1_2_1_NR_TestBody1(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  {
    var RNTI_Value_Type v_C_RNTI;
    var integer j;
    var integer v_Nack_Count;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var NR_MAC_SDU_Type v_EncodedRlcPdu2;
    var NR_MAC_SDU_Type v_EncodedRlcPdu3;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var SubFrameTiming_Type v_TimingDL;               //Anritsu TTCN WA for 7.1.1.2.1.ENDC_FR2
    
    timer t_Watchdog := 0.6;
    //configure SS for no Auto Time alignement
    //@sic R5s200009 sic@
    f_NR_ULGrantConfiguration_Common(nr_Cell1, cs_TimingInfo_Now, -, cs_NR_UplinkTimeAlignment_Stop);
    
    // Configure for indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    // @siclog "Steps 1 - 2" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    var B6_Type p_LCID;
    select (p_NR_DRB_Id) {
      case (1) {
        p_LCID := '000100'B;
      } case (2) {
        p_LCID := '000101'B;
      } case else {
        FatalError (__FILE__, __LINE__, "wrong DRB ID");
      }
    }
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListDL));
    // @siclog "Step 3" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 3");
    t_Watchdog.stop;
    // store cell info parameters for C-RNTI
    v_C_RNTI := f_NR_CellInfo_GetRNTI(nr_Cell1);
    
    // @siclog "Steps 4-5" siclog@
    // Configure SS with a different RNTI than allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, tsc_RNTI_Value_Diff);
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
    // @siclog "Step 6" siclog@
    alt {
      []  SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, (ack, nack)))
        {
          t_Watchdog.stop;
          f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6: UE is sending HARQ ACK/NACK when sent addressed to different CRNTI");
        }
      [] t_Watchdog.timeout
        {
          f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
        }
    }
    
    // Configure SS with a same RNTI allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, v_C_RNTI);
    for (j :=0; j < 16; j:= j+1) {
      v_Nack_Count := 0;
      // Configure SS to corrupt CRC in first transmission of DL MAC PDU
      //@sic R5s190360 sic@
      v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1, 400);  //Anritsu TTCN WA for 7.1.1.2.1.ENDC_FR2
      v_TimingDL.Subframe.Number := 2; //Anritsu TTCN WA for 7.1.1.2.1.NR5GC
      if (v_TimingDL.SFN.Number mod 2 == 1){ //Anritsu TTCN WA for 7.1.1.2.1.NR5GC
        v_TimingDL.SFN.Number := (v_TimingDL.SFN.Number + 1) mod 1024;
      }
      f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal, cs_TimingInfo_NR(v_TimingDL))); //Anritsu TTCN WA for 7.1.1.2.1.ENDC_FR2
      //@siclog "Step 7" siclog@
      v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(j+1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(j+1, crs_NR_PDCP_SDU_36B)));
      // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
      t_Watchdog.start;
      v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu1) };
      v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
      DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_TimingDL),  v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(j))); //@sic R5s190360 sic@ //Anritsu TTCN WA for 7.1.1.2.1.ENDC_FR2
      
      //@siclog "Step 8" siclog@
      SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, nack));
      f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 8");
        
      //@siclog "Step 9" siclog@
      // MAC PDU retransmision automatically performed by SS
      //@siclog "Step 10" siclog@
      alt {
        [] SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack))
          {
            f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 10");
            t_Watchdog.stop;
          }
        [v_Nack_Count<3] SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, nack))
          {
            v_Nack_Count := v_Nack_Count +1;
            repeat;
          }
        [] t_Watchdog.timeout
          {
            f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 10: UE did not send HARQ ACK");
          }
      }
    }

    // Configure for stop indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(disable));

    //@siclog "Step 11" siclog@
    // 254B PDCP SDU + 3B PDCP Header + 3B RLC Header =260B MAC SDU
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(17, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(17, crs_NR_PDCP_SDU_254B)));
    v_EncodedRlcPdu2 := f_NR_RLC_AMD_FullPDU_Encvalue(18, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(18, crs_NR_PDCP_SDU_254B1)));
    v_EncodedRlcPdu3 := f_NR_RLC_AMD_FullPDU_Encvalue(19, tsc_NR_P_Poll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(19, crs_NR_PDCP_SDU_254B2)));
    // 260 MAC SDU + 3B MAC Header =263B MAC Sub PDU
    // 3 MAC SUB PDU = 3*263 = 789B = 6312 bits
    // 6312 + 88 bit Padding =6400 (an allowed TB size as per 38.523-3 Annex B)
    //88bit padding = 1B padding header + 10B padding
    v_SDU_SubPDUListDL := {
      cs_NR_MAC_SDU_SubPDU_LI16(p_LCID, v_EncodedRlcPdu1),
      cs_NR_MAC_SDU_SubPDU_LI16(p_LCID, v_EncodedRlcPdu2),
      cs_NR_MAC_SDU_SubPDU_LI16(p_LCID, v_EncodedRlcPdu3)
    };
    v_MAC_PDUListDL := {
      cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU(tsc_NR_MAC_Padding_10B))
    };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));

    //@siclog "Step 12" siclog@
    f_NR_RxRLCSTATUS_PDU_ACK_SN_Only(20, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 12");
    //@siclog "Step 13" siclog@
    // 122B PDCP SDU + 3B PDCP Header + 3B RLC Header =128B MAC SDU
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(20, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(20, crs_NR_PDCP_SDU_122B)));
    v_EncodedRlcPdu2 := f_NR_RLC_AMD_FullPDU_Encvalue(21, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(21, crs_NR_PDCP_SDU_122B1)));
    v_EncodedRlcPdu3 := f_NR_RLC_AMD_FullPDU_Encvalue(22, tsc_NR_P_Poll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(22, crs_NR_PDCP_SDU_122B2)));
    // 128 MAC SDU + 2B MAC Header =130B MAC Sub PDU
    // 3 MAC SUB PDU = 3*130 = 390B = 3120 bits
    // 3120 + 120 bit Padding =3240 (an allowed TB size as per 38.523-3 Annex B)
    //88bit padding = 1B padding header + 10B padding

    v_SDU_SubPDUListDL := {
      cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu1),
      cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu2),
      cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu3)
    };
    v_MAC_PDUListDL := {
      cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL, cs_NR_MAC_Padding_SubPDU(tsc_NR_MAC_Padding_14B))
    };

    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
     
    //@siclog "Step 14" siclog@
    f_NR_RxRLCSTATUS_PDU_ACK_SN_Only(23, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 14");

    //@siclog "Step 15" siclog@
    // 121B PDCP SDU + 3B PDCP Header + 3B RLC Header =127B MAC SDU
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(23, tsc_NR_P_Poll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(23, crs_NR_PDCP_SDU_121B)));
    // 127 MAC SDU + 2B MAC Header =129B MAC Sub PDU =1032 bits (an allowed TB size as per 38.523-3 Annex B)
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
    //@siclog "Step 16" siclog@
    f_NR_RxRLCSTATUS_PDU_ACK_SN_Only(24, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 16");
    
    //@siclog "Step 17" siclog@
    // 117B PDCP SDU + 3B PDCP Header + 3B RLC Header =123B MAC SDU
    // 123B MAC SDU + 2B MAC Header =125B MAC Sub PDU
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(24, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(24, crs_NR_PDCP_SDU_117B)));
    // 254B PDCP SDU + 3B PDCP Header + 3B RLC Header =260B MAC SDU
    // 260B MAC SDU + 3B MAC Header =263B MAC Sub PDU
    v_EncodedRlcPdu2 := f_NR_RLC_AMD_FullPDU_Encvalue(25, tsc_NR_P_Poll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(25, crs_NR_PDCP_SDU_254B1)));
    // 263B + 125B =388B =3104 bits (an allowed TB size as per 38.523-3 Annex B)

    v_SDU_SubPDUListDL := {
      cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu1),
      cs_NR_MAC_SDU_SubPDU_LI16(p_LCID, v_EncodedRlcPdu2)
    };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));

    //@siclog "Step 18" siclog@
    f_NR_RxRLCSTATUS_PDU_ACK_SN_Only(26, p_NR_DRB_Id);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 18");
  }


function f_TC_7_1_1_2_1_NR_TestBody2(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  {
     
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    
    timer t_Watchdog := 0.6;
    
    // Configure for indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    // @siclog "Steps 19a3 - 19a4" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(26, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    var B6_Type p_LCID;
    select (p_NR_DRB_Id) {
      case (1) {
        p_LCID := '000100'B;
      } case (2) {
        p_LCID := '000101'B;
      } case else {
        FatalError (__FILE__, __LINE__, "wrong DRB ID");
      }
    }
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(p_LCID, v_EncodedRlcPdu1) };
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
    // @siclog "Step 19a5" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    t_Watchdog.stop;
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 23");
    // Configure for stop indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(disable));
  }



